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(AL 2 )
K B H m
43 F 1A 2 A 3 A 4 A 5H 6 A
BERF(AXR) 777 884 955 1, 080 1,271 1, 359
AR#HAESE 314 107 71 125 191 88
1 B E % 10. 1 3.8 2.2 4.1 6.2 2.9
B R O#
T3 F 1R 2A 3A 4R 5A 6 A
BER (AR 100,234 | 111,797 | 121,461 140,126 | 161,426 | 173,934
AM#FRESE 39, 274 11, 563 9, 664 18, 665 21, 300 12, 508
1 BHF B 1, 266.9 412.9 311.7 622. 1 687. 1 416. 9
(& %]
HAFECERE (AFR) 894 1,395 1,774 1, 897 2, 062 2, 234
AMETE 263 501 379 123 165 172
1 B F % 8.4 17.8 12.2 4.1 5.3 5.7
#BAARBEH (AXR) | 2,899 1,663 1, 462 2,018 2,015 1,553
ARARE (£351) 169 -1, 236 -201 556 -3 -462
1 BHF B 5.4 -44. 1 -6. 4 18.5 -0. 1 -15. 4
MRNEEE (AXR) 133 61 44 63 70 47
AMEEE (£50) 45 -72 -17 19 7 -23
1 BHF B 1.4 -2.5 -0.5 0.6 0.2 -0.8
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K B H m
T3 F 7R 8 A 9R X (3% 9 H 26 AW EORHE]
BERH (AR 1,738 2,874 3, 105
AR#HAESE 379 1,136 231
1 B FH 12.2 36. 6 8.9
[MAREEKRR ] (AR X9 HIT26 AR
& =) 241 414 43
A B & 47 78 16
BAERE 7 14 3
BHEREE 70 221 19
B 117 101 5
FRANBEHY BEt | <10 | 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90=
9A6H~12H 73 6 12 1710159 | 2|01 1
9AF138~19H 52 2 6 (1710 6 | 3 | 4| 2| 2 0
9H 20 H~26H 25 3 2 [ 8 4| 3|3 ] 1010 1
B = O#
43 F 7 A 8 A 9R X (3% 9 A 26 HAROHHE)
BERH (AXN) 217,968 | 343,574 | 374,529
AME#HRESE 44,034 125, 606 30, 955
1 HF B 1,420.5 | 4,051.8 | 1,190.6
(& &1
HRECERE (AR | 2,293 2, 493 2, 872
ARRETE 59 200 379
1 BHF B 1.9 6.5 14.6
#RAREH (AXR) 3,209 4, 303 1,553
ARARE (£51) 1, 656 1, 094 -2, 750
1 BHF B 53.4 35. 3 -105. 8
MANEEE (AFR) 95 287 129
AMEESE (5D 48 192 -158
1 H¥EH 1.5 6.2 6.1
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